Slide 6 Exercises
1). Consider the following set of processes with their arrival time, CPU burst time and priority details:
	Process
	Arrival Time (ms)
	CPU Burst (ms)
	Priority

	P1
	0
	10
	3

	P2
	1
	6
	4

	P3
	2
	4
	1

	P4
	3
	8
	2
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Draw the Gantt chart and show the average waiting time of the execution of these processes using the following scheduling algorithms:
		1.1) First-Come First-Served (FCFS)
		1.2) Shortest-Job-First (SJF)
                     1.3) Priority
                     	1.4)  Round-Robin (RR) (time quantum = 4).	
2). Consider the following set of processes with their arrival time, CPU burst time and priority details:
	Process
	Arrival Time (ms)
	CPU Burst (ms)
	Priority

	P1
	0
	8
	4

	P2
	1
	4
	1

	P3
	2
	6
	3

	P4
	3
	12
	2



Draw the Gantt chart, and show the average waiting time of the processes based on the following scheduling algorithms:
		2.1) First-Come First-Served (FCFS)
		2.2) Shortest-Job-First (SJF)
                      	2.3) Priority 
                      	2.4) Round-Robin (time quantum = 4).	
3). Consider the following set of processes with their arrival time, CPU burst time and priority details:
	Process
	Arrival Time (ms)
	CPU Burst (ms)
	Priority

	P1
	0
	14
	3

	P2
	1
	8
	1

	P3
	2
	6
	4

	P4
	3
	4
	2



Draw the Gantt chart, and show the average waiting time of the processes based on the following scheduling algorithms:
		3.1) First-Come First-Served (FCFS)
		3.2) Shortest-Job-First (SJF)
                      	3.3) Priority 
                      	3.4) Round-Robin (time quantum = 4).	
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